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[total marks on quiz: 35 marks]

Part | - No GDC for questions 1 & 2

Two independent events A and B are such that P(A)=%, P(B)=% and P(A|B)=%.

(@) Find P(ANB). [2 marks]
(b) Find P(AUB). [3 marks]
(c) Find the probability that only one of the events occurs. [3 marks]
(d) Find the probability that neither event occurs. [2 marks]

The probability that a student will leave his calculator in any classroom is % . Suppose the student
has visited two classrooms in succession and leaves his calculator in one of the classrooms. What

is the probability that the student left his calculator in the first classroom? [6 marks]

Part Il - GDC is allowed for questions 3-5

3.

A biased coin is flipped five times. The probability of it landing ‘heads’ is 0.6.

(a) What is the probability that the coin never lands ‘heads’ ? [2 marks]
(b) What is the probability that exactly two of the tosses land ‘heads’ ? [3 marks]
(c) What is the probability that at least two of the tosses land ‘heads’ ? [3 marks]

The students in a school are all vaccinated for measles. 48% of the students are male — and 16% of
the males have an allergic reaction to the vaccination. 35% of the girls also have an allergic

reaction to the vaccination. A student is randomly chosen. Find the probability that this student:
(@) hasan allergic reaction; [3 marks]

(b) is female given that a reaction occurs. [3 marks]

In a group of 18 students, eight are females. What is the probability of choosing five students from

the group of 18 such that:
(@) they are all female; [2 marks]
(b) there are three girls and two boys. [3 marks]
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